MATHS

BOOKS - ARIHANT PUBLICATION
JHARKHAND

RECTANGULAR COORDINATES,
STRAIGHT LINES, FAMILY OF LINES

Solved Examples
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https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The incentre of triangle formed by lines

x=0,y=0and 3z + 4y = 12is

A.(3,1)

B. (1,2)

C.(2,)

D. (1,1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fThtDYstrRdB
https://dl.doubtnut.com/l/_vIJHvTYodDKD

2. The perpendicular distance between two
parallel lines 3r +4y—6=20 and

6z + 8y + 7 = Ois equal to

A 19 "
- 7o un

. 19 "
.5 uni

c 19 "
.5 uni

10

D. 1—9 unit

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vIJHvTYodDKD
https://dl.doubtnut.com/l/_qsrqYfZBmzU1
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3. In what ratio will the point 3 T

internally divide the line segment joining the

point (3,-5) and(-7, 2)?

>

= W R W

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qsrqYfZBmzU1

4. The locus of a point which is equidistant

from point (4,2) and x-axis is

Ah?>—8h —4k+20=0

B.h> —8h +4k — 20 =0

C.h> —6h +4k+20 =0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1PnANpBOFL7s
https://dl.doubtnut.com/l/_jCKQHP0C1Zu0

5. If points (5,5), (10, k) and (-5, 1) are collinear,

then the value of k is

A.8

B.7

C.9

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jCKQHP0C1Zu0

Exam Booster For Cracking Exam

1. The points (1,1),(—1, —1) and
(—+/3,4/3) are the angular points of a
triangle, then the triangle is

A.right angled

B. isosceles

C. equilateral

D. None of these

Answer: C



https://dl.doubtnut.com/l/_Tp10up4Bn6C3

\ o Watch Video Solution

2. The triangle formed by the points A (2a, 4a),
B(2a, 6a) and C (2a + /3a, 5a) is

A.right angled

B. isosceles

C. equilateral

D. None of these

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_Tp10up4Bn6C3
https://dl.doubtnut.com/l/_VcTwqTrKkzJi

3. The points A(12, 8), B(-2, 6) and C(6, O) are

the vertices of

A.right angled triangle

B. isosceles triangle

C. equilateral triangle

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VcTwqTrKkzJi
https://dl.doubtnut.com/l/_o28kpmTKXl3l

4,  \Vertices of a AABC are
A(2,2), B( —4, —4) and C(5,8), then the
length of the median through Cis

A. /65

B. /117

C. /85

D. /113

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_o28kpmTKXl3l
https://dl.doubtnut.com/l/_I6OBA0eJiycf

5. The coordinates of the middle points of the
sides of a triangle are (4, 2), (3, 3) and (2, 2),

then the coordinates of its centroid are

7
N
B. (3,3)

C.(4,3)

D. None of these

Answer: A

I a Watch Video Solution


https://dl.doubtnut.com/l/_I6OBA0eJiycf
https://dl.doubtnut.com/l/_sDQNjd72lkQ9

6. Mid-points of the sides AB and AC of a
AABC are (3, 5) and (-3, -3) respectively, then
the length of the side BC is

A. 10 unit

B. 20 unit

C.15 unit

D. 30 unit

Answer: B

| = |


https://dl.doubtnut.com/l/_sDQNjd72lkQ9
https://dl.doubtnut.com/l/_I69zQe5Ghlef

I O Watch Video Solution

7. The extremities of a diagonal of a
parallelogram are the points (3, —4) and
( — 6,5). If third vertiex is ( — 2, 1) then the
coordinates of the fourth vertex are

A. (1,1)

B. (1,0)

C.(0,))

D. (-1,0)


https://dl.doubtnut.com/l/_I69zQe5Ghlef
https://dl.doubtnut.com/l/_Lq2ShZ2N9Edo

Answer: D

o Watch Video Solution

8. If P(1,2),Q(4,6), R(6,7) and S(a, b) are
the vertices of a parallelogram PQRS, then
A.a=2,b=4
B.a=3,6=4
C.a=3b=3

D. a=30=5


https://dl.doubtnut.com/l/_Lq2ShZ2N9Edo
https://dl.doubtnut.com/l/_n0YEQELs59q1

Answer: C

o Watch Video Solution

9. The vertices of a AABC has coordinates
(cos 8, sinf), (sinf, — cosf) and (1,2). As 0
varies the locus of centroid of the triangle is

the circle

Azl +y’—2c —4y+1=0
B.3(:1;2—|—y2) — 2z —4y+1=0

Cael+y? -2z —4y+3=0


https://dl.doubtnut.com/l/_n0YEQELs59q1
https://dl.doubtnut.com/l/_ZfPw496Qgryn

D. None of the above

Answer: B

° Watch Video Solution

10. ABC is an isosceles triangle. If the
coordinates of the base are B(1, 3) and C(-2, 7).

The coordinates of vertex A can be

A. (1,6)

(39


https://dl.doubtnut.com/l/_ZfPw496Qgryn
https://dl.doubtnut.com/l/_eUovo0KqYTl1

Answer: C

o Watch Video Solution

1. The vertices of a AABC are
(A, 2—=L,20),(— A+ 1,2)) and
(—4— X 6—2)). If its area be 70 units,

then number of integral values of A is


https://dl.doubtnut.com/l/_eUovo0KqYTl1
https://dl.doubtnut.com/l/_YqSody95NbyP

Al

B.2

C.4

D.O

Answer: C

o Watch Video Solution

12. The area of a triangle is 5. Two of its
vertices are A(2, 1) and B(3, — 2) . The third

vertex C'isony = x + 3. Find C.


https://dl.doubtnut.com/l/_YqSody95NbyP
https://dl.doubtnut.com/l/_bjH1MJNnSCaY
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Answer: A

o Watch Video Solution

13. The coordinates of A, B, C, D are
(6,3),(—3,5), (4, —2) and (z, 3z)

C 1
respectively. If ADBZABC’ =5 find z.


https://dl.doubtnut.com/l/_bjH1MJNnSCaY
https://dl.doubtnut.com/l/_TR8lyv3cr28b

Answer: B

o Watch Video Solution

14. The points ( — a, — b), (0,0), (a,b) and

(a2, ab) are


https://dl.doubtnut.com/l/_TR8lyv3cr28b
https://dl.doubtnut.com/l/_qQ41jawNYJxB

A. collinear

B. vertices of a rectangle

C. vertices of a parallelogram

D. None of the above

Answer: A

o Watch Video Solution

15.If the points (2k, k), (k, 2k) and (k, k) with
k > 0 enclose in a triangle of area 18 sq units,

then the centroid of triangle is equal to


https://dl.doubtnut.com/l/_qQ41jawNYJxB
https://dl.doubtnut.com/l/_0TCgX4Ha3fpm

A. (8,8)
B. (4,4)
C. (-4,4)

D. (4v/2, 4v/2)

Answer: A

o Watch Video Solution

16. Distance between the points
A(acosa,asina) and B(acosf, asinf) is

equal to


https://dl.doubtnut.com/l/_0TCgX4Ha3fpm
https://dl.doubtnut.com/l/_j4trmWISUF34

Q

A. 2a sin

Q

Q

C.2asin

Q

D. 2a cos

(
(2
(2

Answer: C

+
&)

N+ N
‘cb

E

®

o Watch Video Solution

17. The points (

collinear

z,2x), (2y,y) and (3, 3) are


https://dl.doubtnut.com/l/_j4trmWISUF34
https://dl.doubtnut.com/l/_A38VB5x8xJLk

A. for all values of (x, y)

B. 2 is AM of xy

C.2is GM of x,y

D.2is HM of x, y

Answer: D

o Watch Video Solution

18. A straight line L is perpendicular to the line

5x -y =1.The area of the triangle formed by the


https://dl.doubtnut.com/l/_A38VB5x8xJLk
https://dl.doubtnut.com/l/_FgBJiL9dHN2l

line L and coordinate axes is 5. Find the

equation to the line:

Az + 5y = /2

B.z + by = 5/2

C.z — by = 54/2
D.z + 5y = — /2
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FgBJiL9dHN2l

19. If m; and m4 are the roots of an equation
z°+ (vV3+2)z+ (/3—1) =0, then the
area of the triangle formed by the lines

y:mlm,y:m2az,y:cis

(f#f)

\/_+\/_

\/_+\/_

()
C(f#fw
> (FrE)

Answer: A



https://dl.doubtnut.com/l/_TkQeOWb91ErB

| & Watch Video Solution

20. The equation of the base of an equilateral
triangle is x+y = 2 and the vertex is (2, -1).

Length of its side is

Answer: C


https://dl.doubtnut.com/l/_TkQeOWb91ErB
https://dl.doubtnut.com/l/_LvCItj5IrjgE

° Watch Video Solution

21. The distance between the lines

dr + 3y = 11and 8z 4 6y = 15 is

Answer: D

| 8 l


https://dl.doubtnut.com/l/_LvCItj5IrjgE
https://dl.doubtnut.com/l/_3W1CF6DkElvy

22. A, B and C are the points (a, p), (b,q) and
(c,r) respectively such that a, b and c are in AP

and p,q and r in GP. If the points are collinear,

then
A. p=qg=r
B.p" =g
C. q2 =7


https://dl.doubtnut.com/l/_3W1CF6DkElvy
https://dl.doubtnut.com/l/_fuajOV57Hryz

Answer: A

o Watch Video Solution

23. The equations of perpendicular bisectors
of the sides AB and AC of a AABC are
x —y—+5=0andzx + 2y = 0, respectively. If
the point A is (1, - 2) the equation of the line

BCis

A 23z + 14y — 40

B.23z + 14y + 40 = 0


https://dl.doubtnut.com/l/_fuajOV57Hryz
https://dl.doubtnut.com/l/_i2jpDbdRaCtd

C.14dx + 23y —40 =0

D. 14z + 23y + 40 = 0

Answer: C

o Watch Video Solution

24. A point P(h, k) lies on the straight line
x +y+ 1= 0andis at a distance 5 from the

origin. If k is negative, then h is equal to

A —3


https://dl.doubtnut.com/l/_i2jpDbdRaCtd
https://dl.doubtnut.com/l/_af64MmANgrcv

B.3

D.4

Answer: B

o Watch Video Solution

25. The equations of the straight lines through
(3, 2) which make acute angle of 45° with the

linex — 2y — 3 = 0is (are)


https://dl.doubtnut.com/l/_af64MmANgrcv
https://dl.doubtnut.com/l/_SY7YV4MYPhwZ

A.3y=9and 3z —y =17

B.x+3y=9and 3z —y =17

Cx—3y=T7and3z —y=9

Dx+3y=7and3x +y=7

Answer: A

o Watch Video Solution

26. The number of integral values of m, for

which the x coordinate of the point of


https://dl.doubtnut.com/l/_SY7YV4MYPhwZ
https://dl.doubtnut.com/l/_B6tlAgYrkBUw

intersection of the lines 3z + 4y =9 and

y = mx + 1is also an integer, is

A2

B.O

C.4

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_B6tlAgYrkBUw

27. The equation of the straight line which
makes angle of 15° with the positive direction
of x-axis and which cuts an intercept of length

4 on the negative direction of y-axis, is
Ay=(2-+3)z -4
B.y = (2+ +/3)z + 4
Cy=(2-+3)z+4

D.y=(2++3)z — 4

Answer: A

‘ ° Wiak lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_BSDdbdSdrlbw
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28. The equation of straight line passing
through the point of intersection of the
straight line Jr—y+2=0 and
5z — 2y + 7 = 0 and having infinite slope is

A. x=2

B. x+y=3

C. x=3

D. x=4


https://dl.doubtnut.com/l/_BSDdbdSdrlbw
https://dl.doubtnut.com/l/_LtTeXYCIRbec

Answer: C

o Watch Video Solution

29. If the diagonals of a parallelogram ABCD

are along the lines x+5y=7 and

10z — 2y = 9, then ABCD must be a

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus


https://dl.doubtnut.com/l/_LtTeXYCIRbec
https://dl.doubtnut.com/l/_ZRuXdS0uXhwD

Answer: D

o Watch Video Solution

30. The orthocentre of triangle with vertices

() (D

(25
(o)
(22
(-2


https://dl.doubtnut.com/l/_ZRuXdS0uXhwD
https://dl.doubtnut.com/l/_jETo273A5trb

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jETo273A5trb

